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Group -ll
Paper -1
BUSINESS STATISTICS
Time Allowed : Three Hours
Maximum Marks : 75

Minimum Pass Marks : 25

T T T & IR Alford| YD SHE 9 UH T
TRAT AR 7| 9 I & 3% T &
Attempt all the five questions. One question from
each unit is compulsory. All questions carry equal
marks.
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Define statistics and elucide its scope and

importance.
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From the following data calculate mean :

Age
5-7
8-10
11-13
14-16
17-19
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No. of Students

12

19

10

02
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What do you understand by standard deviation ?
Why it is regarded as superior to other measures
of dispersion ?
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10 - 20 12
20 - 30 15
30 - 40 07
40 - 50 05
50 — 60 03
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Find standard deviation & its co-efficient by short-
cut method from the following data :

Age in years No. of Persons

0-10 08

10-20 12

20-30 15

30-40 07

40 — 50 05

50 — 60 03
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Define correlation and analyse its importance in
the statistical analysis.
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Find out Karl Pearson's coefficient of correlation
between ages and playing habits :

Age 15 16 17 18 19 20

No.of Students 250 200 150 120 100 80

'F\,'Izgrieg“'ar 200 150 90 48 30 12
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How would you measure secular trend in any given
data ? Explain.
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A 2 40 5 75
B 4 16 8 40
C 1 10 2 24
D 5 25 10 60

Find-out Fisher's Ideal Index Number from the

following data :

Commodity Base Year Current year
Price | Total Exp.| Price [Total Exp.
(Perunit)[ (inRs.) [(Perunit)| (inRs.)
A 2 40 5 75
B 4 16 8 40
C 1 10 2 24
D 5 25 10 60
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What is business forecasting ? Explain those
statistical methods which help in business
forecasting.
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There are 5 white and 7 black balls in a bag. If two
balls are drawn then find the probability of one

black and one white ball out of that.

2,200



